



# KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

## ORIGINAL

October 2008 Form Must Be Typed

### **WELL COMPLETION FORM** WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 5822	API No. 15 - 15-007-21646 - 0000
Name: VAL ENERGY, INC	Spot Description:
Address 1: _200 W. DOUGLAS	NE_NE_SW_SW Sec. 3 Twp. 33 S. R. 6 East V West
Address 2: SUITE 520	1010 Feet from North / South Line of Section
City: WICHITA State: KS Zip: 67202 +	
Contact Person: K. TODD ALLAM	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 263-6688	□NE □NW □SE ☑SW
CONTRACTOR: License # 5822	County: HARPER
Name: VAL ENERGY, INC.	Lease Name: IRELAND TRUST Well #: 1-3
Wellsite Geologist: JON STEWART	Field Name: UNKNOWN
Purchaser:	Producing Formation: SIMPSON
Designate Type of Completion:	Elevation: Ground: 1319 Kelly Bushing: 1329
New Well Re-Entry Workover	Total Depth: 4890 Plug Back Total Depth: 0
Oil SWD SIOW	Amount of Surface Pipe Set and Cemented at:Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
CM (Coal Bed Methane) Temp. Abd.	If yes, show depth set:Feet
✓ Dry Other(Core, WSW, Expl., Cathodic, etc.)	If Alternate II completion, cement circulated from:
If Workover/Re-entry: Old Well Info as follows:	feet depth to:w/sx cmt.
Operator:	Drilling Fluid Management Plan
Well Name:	(Data must be collected from the Reserve Pit) 1-21-09
Original Comp. Date: Original Total Depth:	Chloride content: 18000 ppm Fluid volume: 800 bbls
Deepening Re-perf Conv. to Enhr Conv. to SWD	Dewatering method used: <u>LET DRY</u>
Plug Back:Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Docket No.:	,
Dual Completion Docket No.:	Operator Name:
Other (SWD or Enhr.?) Docket No.:	Lease Name: License No.:
11/22/08 11/30/08 PA 11/30/08	QuarterSecTwpS. R East West
Spud Date or Pate Reached TD Completion Date or Recompletion Date  Completion Date	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workover or confiside two of this form will be held confidential for a period of 12 months if requiality in excess of 12 months). One copy of all wireline logs and geologist we BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 for	onversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information quested in writing and submitted with the form (see rule 82-3-107 for confidential report shall be attached with this form. ALL CEMENTING TICKETS MUST
are complete and correct to the best of my knowledge.	he oil and gas industry have been fully complied with and the statements herein
Signature:	KCC Office Use ONLY
Title: PRESIDENT Date: 12/8/08	Letter of Confidentiality Received
Subscribed and sworn to before me this 10 day of DELEMBER	If Denied, Yes Date:
20 <u>08</u> .	Wireline Log Received RECEIVED
Notary Public:	Geologist Report Received KANSAS CORPORATION COMMIS  ——— UIC Distribution
Date Commission Expires: 2/24/2010	JAN 0 2 2009

#### Side Two

Operator Name: VAL	ENERGY, INC		Lease	Name: _	IRELAND TR	UST	Well #: _1-3	3	
Sec. 3 Twp. 33	S. R. <u>6</u>	East West		: HAR					
INSTRUCTIONS: Shot time tool open and clo recovery, and flow rate surveyed. Attach final	sed, flowing and shu s if gas to surface to	it-in pressures, whethe est, along with final cha	r shut-in pres	sure rea	ched static leve	l, hydrostatic p	ressures, bottom	hole tem	perature, fluid
Drill Stem Tests Taken (Attach Additional S		☐ Yes    ✓ No		<b>V</b> L	og Formati	on (Top), Dept	h and Datum		Sample
Samples Sent to Geolo	ogical Survey	☐ Yes 🗹 No		Nam STAL	ne -NAKER		Top 3535		Datum -2201
Cores Taken	\	☐ Yes 🗸 No		КС			3791		-2457
Electric Log Run (Submit Copy)		V ✓ Yes □ No		STAF	RK SHALE		3933	•	-2599
ist All E. Logs Run:				В/КС			4023	-	2689
RADIATION GUARD				MISS	SISSIPPIAN		4405		3071
BOREHOLE COMPEN	SATED			KIND	ERHOOK		4706	-	3372
			<u>,</u>	SIMF	SON SAND		4813	-	3979
		CASIN Report all strings se	IG RECORD et-conductor, su	✓ Ne irface, inte		tion, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig Lbs.		Setting Depth	Type of Cement	# Sacks Used		and Percent Additives
SURFACE	121/4	8 5/8	23		253	60/40 POZ	190	2% G	EL, 3% CC
		ADDITION	AL CEMENTIN	NG / SQL	JEEZE RECORD	<u> </u>			<u> </u>
Purpose:  —— Perforate	Depth Top Bottom	Type of Cement	#Sacks	Used		Туре а	nd Percent Additives	3	
Protect Casing Plug Back TD Plug Off Zone	0-1150	60/40 POZ	155		4% GEL				
Shots Per Foot	PERFORATION Specify F	ON RECORD - Bridge Plu ootage of Each Interval Po	ugs Set/Type erforated		Acid, Fra	cture, Shot, Cen mount and Kind o	nent Squeeze Recor f Material Used)	rd	Depth
								RECI	EIVED
							KANSAS		ATION COMMIS
	·							JAN O	2 2009
							CC	NSERVAT	NOISIVIG NOI
TUBING RECORD:	Size:	Set At:	Packer At		Liner Run:	Yes	No	- WICH	TA, KS
Date of First, Resumed Pr	roduction, SWD or Enh	r. Producing Me		Flowing	Pumpir	ng · Gas	Lift Othe	er ( <i>Explain</i> ,	
Estimated Production Per 24 Hours	Oil B	bls. Gas	Mcf	Wate	er B	bls.	Gas-Oil Ratio		Gravity
DISPOSITION	OF GAS:		METHOD OF	COMPLE	TION:		PRODUCTION	ON INTER	/AL:
Vented Sold	Used on Lease	Open Hole  Other (Specify)	Perf. PLUG & ABA	Dually	• —	nmingled			



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

Val Energy, Inc.

200 W. Douglas STE #520

Wichita, KS 67202

### INVOICE

Invoice Number: 117242

Invoice Date: Nov 22, 2008

Page:

RECEIVED

NOV 2 8 2008

catiomer.ID (at the control of the	Well Name# or Customer P.O.	Paymen	t Terms
Val	Ireland Trust #1-3	Net 30	Days
Job Location	Camp Location ** **	Service Date	Due Date
KS1	Medicine Lodge	Nov 22, 2008	12/22/08

Quantity ::	#"-≠Item:*:₫:	Description of the security of	Unit Price	Amount -
114.00	MAT	Class A Common	15.45	1,761.30
76.00	MAT	Pozmix	8.00	608.00
3.00	MAT	Gel	20.80	62.40
6.00	MAT	Chloride	58.20	349.20
199.00	SER	Handling	2.40	477.60
45.00	SER	Mileage 199 sx @ 10 per sk per mi	19.90	895.50
1.00	SER	Surface	1,018.00	1,018.00
45.00	SER	Mileage Pump Truck	7.00	315.00
1.00	SER .	Head Rental	113.00	113.00
1.00	EQP	Wooden Plug	68.00	68.00
		Coment Surface Cosing	KANSAS CORPOR	EIVED ATION COMMISSION  2 2009 TION DIVISION
				HITA, KS
ALL PRICES AL	PENET PAYARI	F Subtotal		5,668.00

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

\*\*\*\*Dec 22, 2008

Subtotal	5,668.00
Sales Tax	150.99
Total Invoice Amount	5,818.99
Payment/Credit Applied	
TOTAL A STATE OF A STA	5,818.99

566.80 5252.19

# ALLIED CEMENTING CO., LLC. 32527

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERV	TICE POINT:
		Medicine Lodge
DATE 11-22-08 SEC. 3 TWP. 33.5 RANGE & W	CALLED OUT ON LOCATION 1200 PM	JOB START JOB FINISH 0245 PM 0315 PM
LEASE Troland Trust WELL # 1-3 LOCATION Anthony	KS, 4E TO MM #4, 3/4	COUNTY STATE
OLD OR (NEW) (Circle one)		
CONTRACTOR V41 3	OWNER Val Energy	
TYPE OF JOB SUFFACE	7	
HOLE SIZE 12/4 T.D. 253	CEMENT	
CASING SIZE 8 18 23 # DEPTH 253	AMOUNT ORDERED 1905+	60:40:2+3% CC
TUBING SIZE DEPTH		
DRILL PIPE DEPTH		
TOOL DEPTH		
PRES. MAX 300 psi MINIMUM 180 PSI	COMMON// A	@15.45 1761.30
MEAS. LINE SHOE JOINT 30'	POZMIX	@ 8,00 608,00
CEMENT LEFT IN CSG. 20' per Customer Regues? PERFS.		@ 20.80 62,40
	CHLORIDE 6	@58.20 <u>349.20</u>
	ASC	@
EQUIPMENT		@
		@ RECEIVED
PUMPTRUCK CEMENTER Greg 6.	-	KANSAS CORPORATION COMMISSION
#480-486 HELPERHEATH M		
BULK TRUCK		@JAN_0_2_2009
#364 DRIVER Randy F		@ CONSERVATION DIVISION
BULK TRUCK		@ WICHITA, KS
# DRIVER		
	MILEAGE 45 x 199 x . 10	
REMARKS:		
Pipe on Borrom, Break Circulation, Rump 58615		TOTAL <u>4154.00</u>
Fresh WITE Ahest, Pump Cement 1905/ 60:40:2+1380		<b>.</b>
CC, STOP PUMPS, Release Plug, STRAT Disp. See Lift, 6100		E
RATE, DISA WITH 1434 BUS Fresh WATER, SHUT IN	DEPTH OF JOB 253'	
Coment Circulated TO Surface	PUMP TRUCK CHARGE	101000
	TOTAL TROOK CHARGE	1018.00



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: (785) 483-3887

Fax: (785) 483-5566

Bill To:

Val Energy, Inc. 200 W. Douglas STE #520

Wichita, KS 67202

9233

## INVOICE

Invoice Number: 117350

Invoice Date: Nov 30, 2008

Page: 1

Programa III	₩ell Name# or Customer P.O.	Paymen	Terms 3 14 145
Val	Treland Trust #3	Net 30	
# Job Location !	Camp Location	Service Date :	
KS1	Medicine Lodge	Nov 30, 2008	12/30/08

KS1		Medicine Lodge	Nov 30, 2008	12/30/08
	Maritania (Arti	«	Unit Price	Amount A
Quantity 93.00 M	\$\$∌iltem ≟#≅≇ ∧∧⊤	Class A Common	15.4	
1		Pozmix	8.0	0 496.00
62.00 M		Gel	20.8	0 104.00
5.00 M	,	Handling	2.4	0 384.00
160.00 S		Mileage 160 sx @ 10 per sk per mi	16.0	0 720.00
45.00 S			1,017.0	l i
1.00 S		Rotary Plug	7.0	1
45.00 S	SER	Mileage Pump Truck		·
	:			
	•			-
	•			
				RECEIVED
			KANSAS C	ORPORATION COMMISSION
	·	·	JA	N 0 2 2009
			000	•
•		_	CON	SERVATION DIVISION WICHITA, KR
·				
		Subtotal		4,472.85

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ -447 28

ONLY IF PAID ON OR BEFORE

--- Dec 30, 2008

· · · · · · · · · · · · · · · · · · ·	
Subtotal	4,472.85
Sales Tax	237.06
Total Invoice Amount	4,709.91
Payment/Credit Applied	
TOTAL	4,709.91
TO I AL COMPANY TO THE PROPERTY OF THE PROPERT	Mark the State of the Control of the

# ALLIED CEMENTING CO., LLC. 042771

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:
~ IRELAND Trust	10659 Medicine lodge
<del>-7 </del>	CALLED OUT ON LOCATION JOB START JOB FINISH  3.000 M. 7.000 M. 7.000 M.
	COUNTY STATE
OLD OR NEW (Circle one)	b. 44,5/25, Elinto Harper Por
CONTRACTOR UZI 3	OWNER Val Energy
TYPE OF JOB Rot. Plus	**
HOLE SIZE 77/8 T.D. 4890	CEMENT
CASING SIZE & 5/13 DEPTH	AMOUNT ORDERED 155 3x 60/40/4
TUBING SIZE DEPTH	
DRILL PIPE DEPTH	
TOOL DEPTH	1436.85
PRES. MAX MINIMUM —	COMMON 93 A @ 15.65
MEAS. LINE SHOE JOINT — CEMENT LEFT IN CSG.	POZMIX 62 @ 8.00 496.00
PERFS.	GEL <u>5 @ 20.80 /04.00</u>
Digit I con to to	CHLORIDE@
	ASC@
EQUIPMENT	@@
	KANSAS CORPORATION COMMISSION
PUMPTRUCK CEMENTER Mack Color	
#360-Zies HELPER Steve K.	JAN 0 2 2009
BULK TRUCK	CO@SERVATION DIVISION
#364 DRIVER michael N.	@ WICHITA, KS
BULK TRUCK	@
# DRIVER	HANDLING /60 @ 2.40 384.00 MILEAGE 45 × 160 X . 10 720.00
REMARKS:	
pluce 1150 4/355x disp without.	TOTAL 3.1.
PINSE 1120 CO 22 CO 28 C	3140.85
Phy(2 150 m/355x Chep.n/ Tun-	SERVICE
	2 · W
Phy @300 w/355x hep w/ tul	DEPTH OF ION 11-1
pluce 660 wizssx	DEPTH OF JOB //50'
plus o 60 wizsx	PUMP TRUCK CHARGE 1017.00
pluce 660 wizssx	PUMP TRUCK CHARGE
plus o 60 wizsx	PUMP TRUCK CHARGE       /017.00         EXTRA FOOTAGE       @         MILEAGE       45       @ 7.00       315.00
plus o 60 wizsx	PUMP TRUCK CHARGE
plus e lo wizssx plus mouse wiesx	PUMP TRUCK CHARGE       /017.60         EXTRA FOOTAGE       @         MILEAGE       45       @ 7.00       315.00         MANIFOLD       @
plus e lo wizssx plus mouse wiesx	PUMP TRUCK CHARGE
plus o 60 wizsx	PUMP TRUCK CHARGE       /017.60         EXTRA FOOTAGE       @         MILEAGE       45       @ 7.00       315.00         MANIFOLD       @
CHARGE TO: WE STREET	PUMP TRUCK CHARGE /017.60  EXTRA FOOTAGE @
CHARGE TO: ULL Energy	PUMP TRUCK CHARGE /017.60  EXTRA FOOTAGE @
CHARGE TO: WE STREET	PUMP TRUCK CHARGE /017.60  EXTRA FOOTAGE @
CHARGE TO: WE STREET	PUMP TRUCK CHARGE /017.60  EXTRA FOOTAGE @
CHARGE TO: WE STREET	PUMP TRUCK CHARGE
CHARGE TO: WESSX  CHARGE TO: W	PUMP TRUCK CHARGE /017.60  EXTRA FOOTAGE @
CHARGE TO: WENEGY  STREET  CITY STATE ZIP  To Allied Cementing Co., LLC.	PUMP TRUCK CHARGE
CHARGE TO: LIENERGY STREET  CITY STATE ZIP  To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment	PUMP TRUCK CHARGE
CHARGE TO: WENCY  STREET  CITY STATE ZIP  To Allied Cementing Co., LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	PUMP TRUCK CHARGE
CHARGE TO: LECY  STREET  CITY  STATE  To Allied Cementing Co., LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was	PUMP TRUCK CHARGE
CHARGE TO: LECY  STREET  CITY  STATE  To Allied Cementing Co., LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	PUMP TRUCK CHARGE
CHARGE TO: LECY  STREET  CITY  STATE  To Allied Cementing Co., LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL"	PUMP TRUCK CHARGE
CHARGE TO: LECY  STREET  CITY  STATE  To Allied Cementing Co., LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	PUMP TRUCK CHARGE
CHARGE TO: LECY  STREET  CITY  STATE  TO Allied Cementing Co., LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	PUMP TRUCK CHARGE
CHARGE TO: LECY  STREET  CITY  STATE  To Allied Cementing Co., LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL"	PUMP TRUCK CHARGE
CHARGE TO: LIEGY  STREET  CITY STATE ZIP  To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.  PRINTED NAME	PUMP TRUCK CHARGE
CHARGE TO: LECY  STREET  CITY  STATE  TO Allied Cementing Co., LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	PUMP TRUCK CHARGE